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Instructions
For the following questions answer them individually

Question 1

A 51
4
B 102
C 68
D 85
E 34 / 2 Y
N
Answer: C L/ Q
Explanation:

Let the total quantity 0(7 ixture in the vessel initially = 17z litres

=> Quantity of milk = 1 \1 x = 14z litres
Quantity of water = 17z — 14z"=/3x litres

Acc. to ques /

14— 17
=> 3z—(17 x25!

;'

14z—21+5
=> 3z—4.542.5 = 1

142—16 4
= 3z-2 =1

=14z — 16 = 122 — 8
=14z — 122 = 16 — 8

8
=>r—=92=4 /"_Q
.
Initial quantity of mixture in the vessel before the replacement = 17 X 4 U)
Question 2 =
A vessel contains 100 litres mixture of milk and water in the respective ratio of/22 : 3.40 litres of the mixture is taken out from the

vessel and 4.8 litres of pure milk and pure water each is added to t rcent is the quantity of water in the final

mixture less than the quantity of milk?

A 783 Q\

1
B 795 \
5

C 726

2
o ¥/ \\/7
E 772 \

1
Answer: B (
Explanation: f/
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22
Quantity of milk in vessel = 25 x 100 = élitres

=> Quantity of water = 100 — 88 = 12 litre \_/

. . . . 40 2
40 litres of the mixture is taken out, i.e., 100 = (5)

=> Milk left = 88 — 5 x 88 = m\

»
es
: o :
=> Quantity of milk in t e vessel = 52.8 + 4.8 = 57.6 litres

Quantity of water in t% =7.2+4.8=12litres
6-12 \

57 .
~.Required %= 57.6 x 100~/

475 14
=6 =179 f{ 0
Question 3

)
/
» xtJ
Jar A has 60 litre lixture of milk and water in the respective ratio of 2 : 1. Jar B which had 40 litres of mixture of milk and water
was emptied into jar A, as a result in jar A, the respective ratio of milk and water became 13 : 7. What was the quantity of water in jar
B?

th

2 {7{
Waterleft=12 — 5 x 12 = 7.2 it

Now, 4.8 lires of milk and water are

A 8 litres Yy
B 15 litres
C 22 litres @
D 7 litres / ~
E 1 litre /5
Answer: B /\\,
=

Explanation: \j

Jar A has 60 litres of mixture of milk and water in the respective ra@\%1

2
=> Quantity of milk in Jar A= 3 x 60 = 40 litres \

Quantity of water in Jar A = 60 — 40 = 20 itres \

Let quantity of water in Jar B = z litres

A
=> Quantity of milk in Jar B = (40 — z) litres \b
40+(40—=x) 13 Q\

Acc.toques,=> 20+z = 7

=>560 — 7z = 260 + 13z R

=>13z + 7z = 560 — 260 /
=> 20z = 300 {

300 )
=g = 20 — 15 litres

3,Fi=ee\Mock for RBI Grade-B (With Solutions)
: 0 R

Question 4 .Ua‘ / B

Jar A has 36 litres of mixture of mi
was emptied into jar A, and as a result

jar B? P

\\
A 5 itres \

(and water in the respective ratio of 5 : 4. Jar B which had 20 litres of mixture of milk and water,
A, the respective ratio of milk and water becomes 5: 3. What was the quantity of water in
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B 3 litres 9

C 8 litres

D 2 litre \_/
W

E 1 litre

Answer: A

Explanation:
Jar A has 36 litres of mixture of milk and water in the respective ratio of 5: 4

5
=> Quantity of milkin Jar A= 9 x 36 = 20 litres
Quantity of water in Jar A = 36 — 20 = 16 itres
Let quantity of water in Jar B =  litres

=> Quantity of milk in Jar B = (20 — z) litres

20+(20—z) 5
Acc.to ques,=> 16+z = 3

=>120 — 3z = 80 + 5z
=>br + 3x = 120 — 80
=>8xr = 40

40
= = 8 = blitres

Question 5

e ratio of 6 : 7. 26 litres of the mixture was taken out from Jar A. What
% of the resultant mixture in jar A?

Jar A contains 78 litres of milk and water in the respe
quantity of milk should be added to jarA, so

A 8 litres
B 36 litres
C 12 litres
D 14 litres
E 18 litres
Answer: E {/\
Explanation:

Jar A has 78 litres of mixture of milk and water in the respective ratio of 6 : 7

= 163 X 78 = 36 litres

36 = 42 litres

=> Quantity of milk i

Quantity of water in Jar A =

26 1
26 litres of thedixture was taken out from Jar A, i.e., 78 = (3)™¢

1
=> Milk left =36 — 3 x 36-= 24

Water left = = 28

Let milk added to jar A =  litres

24+x 60
Acc.to ques,=> 28 = 40
244z 3
=> 28 =2 y

=>48 4 21 — 84 /
—N
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=> 27 = 84 — 48 = 36 >
36
=g = 2 = 18 litres \_)

Question 6

d to the vessel. Again 6 litres of mixture
and water in the resulting mixture in the

A vessel contains 60 litres of milk. 6 litres of milk is taken out and
from the vessel is withdrawn and 6 litres of water is added to the vessel.
vessel is

A 81:19 \
B 71:29 \\)
C 61:39
y

D 61:29 Q \\4
E None of these \

Answer: A R
Explanation:

If we are taking out 6 litres out of a 60 litr lacing it with water,

1
=> We are replacing 10th of the solution wi
9
=> Fraction of milk will become 10th of original.

If the process is repeated 'n' tlpr( of milk will become (10) of the original.

Here, the process is done twut_d

=> Final quantity of milk = litres

and Final quantity of wé{ér =60-48.6 = 11.4 litres

.". Required ratio = 1% 19

\\/
Y 4 RBI Grade B Previous Papers PDF
Question 7 ( |

The milk ané%:fr i:Lhwt//Jessels A and B are in the ratio 4 : 3 and 2 : 3 respectively. In what ratio the liquids in both the vessels be
mixed to obtain'a-new mixture in vessel C consisting half milk and half water?

A 8:3

B 7:5 Y

C 4:3

D 2:3 Q
/

E None of these ==

Answer: B ’O
Explanation: /\\
Let mixture in vessel A = z ml \

and mixture in vessel B = y ml %
o 4z \
=>Milk invessel A= 7

N
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2y
Milk in vessel B = 5

Acc to ques,

4z 2y 1
=74+ 5 =2(x+vy)

4z =z y 2y
=7 —2=2—5

x y
=> 14 = 10

T 14 7
=>y=10 =5
Question 8

Jar A contains ‘X' litre of pure milk only. A 27 litre mixture of milk and water in the respective ratio of 4 : 5, is added to jar A. The new
mixture thus formed in jar A cont s 70% milk, what is the value of X ?

= ”@

c 27 \
D 48

E 28

Answer

Explanation:

4
Quantity of milk in 27 litre mixture = 445 X 27 = 12 litre
Quantity of water = 27 — 12 = 15 litre

Ratio of milk and water in the new mixture=70:30=7:3

Acc to ques,
X+12 7
=> 15 = 3

=>3X 436 =15 x 7 =105
=>3X =105 — 36 = 69

69
=>X = 3 = 23litre

Question 9

In a vessel there is 40 litres mixture of milk and water. There is 15% water in the mixture. The milkman sells 10 litres of mixture to a
customer and thereafter adds 12.5 litres of water to the remaining mixture. What is the respective ratio of milk and water in the new
mixture ?

A 2:3
B 3:2
C 3:4
D 4:3

E None of these

Answer: B

Explanation:
Mixture remaining after selling 10 litres = 40 - res
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s

. . . - . 15 .
Now, quantity of water in 30 Ilt}esﬁMyre = 100 * 30 = 4.5 litres
//n\\.-‘&'\.‘_\_‘

Milk = 30 - 4.5 = 25.5 litres Lf >
|

After adding 12.5 litres of water, totk\a\lt\guanjf)/i of water =12.5+ 4.5 =17 litres

.". Required ratio of mil(k?nd water = é‘5."5“:/17

_ 1-19- \ '-\

=1.5:1=3:2 Q\

.

S

" RBI Grade-B Study Material (Download PDF)

&
Question 10/ /

18 litres of I.L{e water wa#l dded to a vessel containing 80 litres of pure milk. 49 litres of the resultant mixture was then sold and
some more q@txye milk and pure water was added to the vessel in the respective ratio of 2 : 1. If the resultant respective
ratio of milk an n the vessel was 4 : 1, what was the quantity of pure milk added in the vessel ? (in litres)

A 4

y
c 10 /////// o
D 12 //

2 I &)\)
Answer: A //\\«\ O

Explanation:
18 litres of pure water was added to a vessel containing 80 litres of pure milk.

Total mixture = 80 + 18 = 98 litres <¥

1 80
Now, 49 litres i.e., 2is removed, => Milk left = 2 =40 litres E

Q
18
Water left = 2 =9 litres \

Let milk added be 2z litres and water added is z litres A

40+2z 4
=> 94z =1

=>40 + 2x = 36 + 4z
=>2r=40—-36=4

4
:>,’1}:2:2

.". Quantity of milk added = 2 x 2 = 4 lit %

//7
Question 11 \\ A

A vessel contains a mixture of milk and water i?\?fe/respective ratio of 10 : 3. Twenty-six litre of this mixture was taken out and
replaced with 8 litre of water. If tb,e_@tant respective ratio of milk and water in the mixture was 5 : 2, what was the initial quantity

of mixture in the vessel ? (in Il/u/p)"7. n\::

f .

[} II/ lf \) T,f

A 143 \Fj:ﬁy
B 182 [
\ I'\
AN
C 169 C§\§l
[
D 156 ~

E 130 (z

V)
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Answer:v

Explanation:

Let quantity of Milk and water be M and W respectively.
M:W=10:3

3M=10W

In 26 litre of mixture

M =26(10/13) = 20 litre and

W =26(3/13) = 6 litre

8 litre of water is added.

Resulting ratio of M and W is

M-20: W-6+8 =5:2

2(M-20) = 5(W+2)
2M-40=5W+10

Multiplyin all the terms by 2.
4M-80=10W+20

Replacing 10W with 3M.
4M-80=3M + 20

M =100

Hence W would be 30.

Total quantity = 100+30 = 130.
Option E is the correect answer.

Question 12

In a 90 litres mixture of milk and water, perce

ater is only 30%. The milkman gave 18 litres of this mixture to a customer
and then added 18 litres of water to the remain i

e. Wha the percentage of milk in the final mixture ?

A 64
B 48
C 52
D 68

E 56

Answer: E O
Explanation: /Zj
7

In 90 liters of mixture,

90x 30!
Amount of water= 100" '
=27 liters.

- 90x70 %

Amount of milk= 100 . S
=63 liters.
Similarly, in iters of mixture,

1830
Amount of water

=5.4 liters.
M

Amount of milk
=12.6 liters.
After removing 18 liters of solution,

Amount of water=27-5.4=21.6 liters.

Amount of milk=63-12.6=50.4 liters.

After adding 18 liters of water,

Amount of water in the solution=21.6+18=39.6 liters.

50.4
Hence, Percentage of milk in solution= 50.4+39.6 x 100.
=56%.
Hence, Option E is correct.
O
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Question 13

\\
Pure milk costs Rs. 16 per litre. After adding water the milkman se \tll\emixture at the rate of Rs. 15 per litre and thereby makes a
profit. of 25%. In what respective ratio does he mix milk with water ? h \?:7

Q.
A 3:1 \\\:: )

B 4:3 (\
C 3:2 \ \\;;;’7
3\
D 5:3 O
E 4:1 ,’>
i 4
Answer: A ;/ f
\ ///7
Explanation: \\-—’/

~———

8
Profit = 25% hence effective Cost Price = Selling Price * 10 or Selling Price - 20%
Thus Effective Cost Price = Rs ‘IZper-lltre

/ / f"\
(It can be said that the farmeltd's adq/rig the ”112 equivalent of Effective Cost Price and Water equivalent of Initial - Effective Cost Price)
Ef fectiveCost Price
Ratio = Initial—Ef fectiveCost Price \\\.ﬂ_ g /
12 o o
Ratio= 4 =3:1 \
O':’"l.\
Question 14
\\‘\j\

In Jar A, 140 litre milk was nﬁ@with 40 litre water. Some of this mixture was taken out from Jar A and put in Jar B. If before the
operation, there'was 17 litres of milk in Jar B, and afterwards the resultant ratio between milk and water in jar Bwas 19: 3
respectlvely( ylﬁ/at was the amount of mixture that was taken out from Jar A ? (in litre)

\ !

/
A 21 \\ Yy
B 36
C 46
D 18 _//

P
/
E 27
f\
Answer: E / /

Explanation: &
Milk to water ratio in Jar A is 140:40 = 7:2. Let the quantity of taken o t mix ure = Ox litre.
Hence, milk will be 7x and water will be 2x litres. {\

Therefore, (7x+17) / 2x=19/3
=>x=3

Hence, amount taken out is 9*3 = 27 litres. \

Question 15 & \
In Jar A, 180 litre milk was mix with 36 litre water. Some of th %ﬁ( ’taken out from Jar A and put it in Jar B. If after adding 6
litres of water in the mixture, the respective ratio between milk and water in JarBwas 5: 2 respectively, what was the amount of

mixture that was taken out from Jar A ? (in litres) ""
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Y
A . \

B 54
Cc 30
D 36 e
E 42

Answer: D o
Explanation:

The ratio of milk to water in Jar X

=180:36=5:1

Now, let 6x litres of mixture be taken out from Jar X and put in Jar Y.
Then, milk in JarY = 5x

Water in Jar Y='x

So, 5x/(x+6) = 5/2

or, 10x=(5x +

or, 5x=30,

. X=6

Hence the mixture that was taken out from Jar X = 6x =6 x 6 = 36 litres

Download Highly Rated E

Question 16

There are 81 litre pure milk in a container. One third of milk is replacec
extracted and equal amount of water is added. What is the ratio of mi

A 1:2
B 1:1
C 2:1
D 4:5

E None of these

Answer: D

Explanation:

. QNRfinal QN Rinitial quantityreplace
using Total =  Total (1— total )"

here QNR is the quantity which is only removed in whole process and hence here it is milk and 'n' is the number of times the

replacement process is repeated

So using the formula
QNRfinal 81 27

Total =81 x (1 — 81)2
QNR final
Total =4/9
So after two replacement cycle tio-of Milk : Water = 4:5
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Question 17 =

A vessel contains 64 Ii(r?es of mixture of milk and water in the ratio 7 : 3 respectively. 8 litres of mixture is replaced by 8 litres of milk.

What is the ratio of rlniké@ water in the resulting mixture ?

g
.
A 59:21/,:/
/
B 35:2 ( Bl
‘\\_/f':
C 64:23
D 65:21

E None of these

Answer: A

Explanation:
Solution of milk and water in vessel = 64 litres /f\
ration of Milk:Water = 7:3 ( J

. P ==
using /—J
waterconcentration final initialwaterconc. removedvolume

total = total (1 — total )n
3 8

waterconcentration final 1
total =10(1 — 64)

waterconcentration final 3 1

total =10(1—8)" Q\

waterconcentration final 21 »
total = 80
water : milk in new solution after replacement = 21: 59 (\\

Question 18 —

out and 8 litres of grape juice and 2 litres ofﬁ';e:\pple ce is added to the vessel. If the resultant quantity of grape juice is 10 litres

A 120 g

B 150 /4)
\
- W,

D 135 o
T
E 90 ﬂf—ﬂﬂ.‘ R\‘a
. ~
Answer: D ,l_/ ( \ <
@)
Explanation: S

let the amount of grapﬁ{jl,?nce ,pineapple juice and banana juice in vessel be 4y ,6y,5y respectively

\ I'\
Now when we removed 15 Itr from vessel the juice will be removed in their given ratio i.e 4 ltr of grape juice will be removed and 6 ltrs
of pineapple will be remo and 5 Itrs of banana juice will be removed and hence new quantities are

Loy
Grape juice = 4y-4 ~

//
Pineapple judce = 6y- 6

Lsys  J)
\ ;
j is added and 2 ltrs of pineapple juice is added so new quantities of Juices in vessel are

Grape juice = 4y+4

Banana juic

Niw 8 ltrs of

Pineapple juuce = 6y-4
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It is given that grape juice amount is 10 lirs less than pineapple juice quantity .
So
6y-4-4y-4=10

2y=18
y=9
Initial quantity in vessel = 15y = 15x9=135 ltrs

Best Youtube Channel for Banki eparation

Question 19

18 litres of pure water was added to a vessel containing 80 litres of ilk. 49 litres of the resultant mixture was then sold and
some more quantity of pure milk and pure water was added to the vessel espective ratio of 2:1. If the resultant respective ratio
of milk and water in the vessel was 4:1, what was the quantity-of pure milk added in the vessel ? (in litres)

A 4
B 8 \
Cc 10
D 12
E 2
Answer: A
Explanation:

18 litres of pure water was added to 80 litres of pure milk.

IS
This we get a mixture where B
quantity of water = 18 litre O
quantity of milk = 80 litre

Total quantity of the mixture = 18+80 = itre

\
49 litres of the result ixture was then sold. Since half of the mixture is removed and only the other half is remaining,
quantity of water remaining =-18/2 = 9 litre

Quantity of milk remaining = \O%Z} 40 litre

Total quantlty/@malnlng 49 litre

some more antity of pure-milk and pure water was added to the vessel in the ratio 2:1
Let quantlty milk adde

quantity ofw

Now,
quantity of water =9+x
quantity of milk =40+2x

Given that ratio of milk and water in the vessel is now 4:1
=> (40+2x):(9+x)=4:1

=> 40+2x=4(9+x)
=> 40+2x=36+4x
=>2x=4

=>x=2

quantity of pure milk added in the vessel =2x = 4 litre Q

&
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Question 20

Two types of rice (type 1 and type 2) were mixed in the respective ratio of-1\:,3,"‘The mixture was then sold @ 75.60 per kg to gain a
profit of 20%. If the price of type 1 rice is Rs. 75 per kg, what is:jthg._price of type 2 price per kg?

A Rs.55
B Rs.53
C Rs. 59
D Rs.57

E Rs. 62

Answer: C

Explanation:

Profit = 0.2 CP P
Profit = SP - CP 7 IR
1.2CP=SP [
Hence, CP = (SP/1.2) = 75.6/1.2 = 68|

Now, let the cost of type 1 rice is T1 ‘and 'cé'st’ of type 2 be T2.
63 T1+3T2 S—
= 4 [ f

= (75 + 3*x)/4
x =59 S
Therefore, cost of type 2 pri'(":e-.i'_'s_ij_SQ.
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